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201 g2yl 20,960 22,704 A1,744
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LU PR 804,680 503,780 300,900
AU DISA4E HEa 703,780 402,880 300,900
401 AAHIL 2O 703,780 402,880 300,900
04 Al&H] 700,000 400,000 300,000
OAad SAXT A0IM4E HESAY
25,000,000% *127H £ 300,000 0 300,000
06 Al&=CHH] 3,780 2,880 900
OAlLL YT A0IMEE HE2AY
NEEXTH 3,780,0002 3,780 2,880 900
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= 33,000 33,000 0
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5t E HHIALYS 332,412 282,088 50,324
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401 Al&H| 2 2 04| 231,764 201,440 30,324
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O4A &JI0tE st42 &
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401 AlSHI L2 0| 20,000 0 20,000
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o2 TIUU(M+EALSEE) 7,740,409 4,568,965 3,151,444
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qPMAE Z4TY HFBA 4,480,415 1,466,840 3,013,575
= 500,000 0 500,000
2 3,980,415 1,466,840 2,513,575
401 Al&HI L = Y| 4,480,415 1,466,840 3,013,575
= 500,000 0 500,000
2 3,980,415 1,466,840 2,513,575
04 Al& 4,403,495 1,400,000 3,008,495
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= 500,000 0 500,000
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OoZa+E S+ SHYTJA(RZH)
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01 A2 Zalyl 40,449 44,943 4,494

OMNS Il &=L ~4,494,000! 4,494 0 4,494

202 OfH] 2,160 2,400 A240

01 =2U401bl 2,160 2,400 A240

O=2UH0iHl HaE2E ~240,000%! 240 0 A240

206 M2l 26,539 27,936 A1,397

01 Xl 26,539 27,936 A1,397
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AT DETA 50,000 36,000 14,000

401 A&HIZL2HH] 50,000 36,000 14,000

04 Al 50,000 36,000 14,000
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StemMel Al S &R (SRNLASS LSS H) 003,230 3,232,230 229,000

= ,139,000 2,321,000 182,000

| 425,000 472,000 47,000

[ 223,500 149,000 74,500
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[ 22,000 22,000 0

401 AlZHI L2 320,000 549,000 229,000

=2 237,000 419,000 182,000

61,000 108,000 47,000

[ 22,000 22,000 0

04 AlZH 320,000 549,000 229,000
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320,000,000&! 320,000 549,000 229,000

237,000 419,000 182,000
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88,000 88,000 0




SA: B
XN XH - AF
S Tt o

el St A& X (EIHEAMLSESIH) (el &
SN B SA(SH) - NRAY - B 0fl &t oJE-E" DS
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= 33,021 44,521 A 11,500

401 AIEHIZ S0 492,521 492,521 0

= 342,000 342,000 0

Jl 88,000 88,000 0

< 29,500 18,000 11,500

= 33,021 44,521 A 11,500

04 Al£HI 489,000 489,000 0
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489,000,000 489,000 489,000 0

= 342,000 342,000 0
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= 29,500 18,000 11,500

s 29,500 41,000 A11,500
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= 864,000 864,000 0

P 222,000 222,000 0

= 74,000 46,000 28,000

= 78,443 106,443 A28,000

401 AIEHIEL =0 1,238,443 1,238,443 0

= 864,000 864,000 0

Jl 222,000 222,000 0

= 74,000 46,000 28,000

= 78,443 106,443 228,000

04 Al£HI 1,234,000 1,234,000 0
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= 864,000 864,000 0
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= 0 272,000 A272,000
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= 272,000 0 272,000
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S 7,000 0 7,000
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= 424,000 424,000 0
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= 424,000 424,000 0
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401 AlZHIX R 0HYI 536,528 486,168 50,360
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= ABT2 ABT2 0

< 18,284 18,284 0

= 46,611 44,661 1,950

206 M= dl 2,950 1,000 1,950
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& 9,180 9,180 0
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201 Letd| 5,400 6,000 A 600
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OAtR2teldl slatE 2= -600, 000& 2600 0 A600
206 M=l 7,980 8,400 A420
01 &bl 7,980 8,400 A420
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ZI e 23,445 24,050 A 605
gzt 23,445 24,050 A 605
201 B2 2,745 3,050 A 305
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OdAEHIEA S HAESE -50,000& A50 0 A50
2 891,023 891,898 AB75
= 76,703 76,703 0
= 54,990 54,990 0
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MEFH 29 217,328 217,328 0
= 9,467 9,467 0
= 8,127 8,127 0
= 199,734 199,734 0
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04 Al&HI 15,000 0 15,000
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< 3,579 3,579 0
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01 TMH=ZHSHI 12,900 27,900 A 15,000
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A=A X2 673,695 674,570 AB75
= 67,236 67,236 0
< 46,863 46,863 0
= 559,596 560,471 AB75
201 LEHR | 65,720 66,320 A600
= 4,596 4,596 0
< 3,015 3,015 0
= 58,109 58,709 A600
01 AtR2eltl 20,720 21,320 2600
OArR2teldl a2 2 -600,000& AB00 0 2600
202 OdHl 1,800 2,000 A200
01 2UAHI 1,800 2,000 2200
O=UNHl saEZ= -200,000& 2200 0 2200
301 erEH= 675 750 AT5
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OAIAHIE = GIMtEZ = -75,000& VAVES) 0 AT5
401 AIEHIZ=20Y] 9,900 15,900 26,000
= 1,470 3,270 A 1,800
= 1,029 2,289 A 1,260
= 7,401 10,341 A2,940
04 Al£HI 9,900 15,900 26,000
OMEZAZA(USHA) 0 0 6,000 26,000
= 0 1,800 A 1,800
S 0 1,260 A1,260
s 0 2,940 A2,940
405 XtobESHI 6,000 0 6,000
= 1,800 0 1,800
s 1,260 0 1,260
= 2,940 0 2,940
01 A =ZFHSHI 6,000 0 6,000
OMEZAEA(ASHE) 6,000,000 * 14! 6,000 0 6,000
= 1,800 0 1,800
= 1,260 0 1,260
i 2,940 0 2,940
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= 36, 141 36, 141 0

= 8,209 8,209 0

i 42,006 42,656 A 650

SEHNSE M XA 72,356 73,006 650

= 36,141 36, 141 0

= 8,209 8,209 0

= 28,006 28,656 AB50

201 Letd| 1,800 2,000 A200

01 AtS2teld] 1,800 2,000 A200

OAtR2teldl oatE 22 -200,000& A 200 0 A200

202 O4dl 1,350 1,500 A 150

01 =3LHObI 1,350 1,500 A150

O=U0odl oaEs=2 -150,000& A 150 0 A 150

206 MZHl 5,700 6,000 A 300

01 THZ 4l 5,700 6,000 A 300

OMzdl daE2= -300,000& A 300 0 A 300

S BEE 852,150 537,510 314,640

182,741 182,741 0

= 7,589 7,589 0

& 346,748 146,748 200,000

= 315,072 200,432 114,640

Sttt 242 510,555 195,915 314,640

= 27,504 27,504 0

& 319,251 119,251 200,000

= 163,800 49,160 114,640

201 Lete 540 600 A60

01 At 540 600 60

OAtR2t -60,000& A60 0 260

401 A&l 510,015 195,315 314,700

= 27,504 27,504 0

= 319,251 119,251 200,000

i 163,260 48,560 114,700

02 &AIEAH 23,020 8,320 14,700
OR2at 2 BOl A& (HYTH)

=N 300,000,000 *4.9/100 14,700 0 14,700

04 Al&H| 486,995 186,995 300,000
ORXt=2 4t BOAE(HLDH)

=N 300,000,000 » 14! 300,000 0 300,000
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< 200,000 0 200,000
2 100,000 0 100,000
AFEE AR 143,852 120,908 22,944
SALEY IB X =7 143,852 120,908 22,944
403 TXISHSKH=0IH 93,852 70,908 22,944
02 ZIIZSOICHECHE AL b 93,852 70,908 22,944
OAE AI2Hl 22 (3H—4H)
91,775,0002 91,775 68,831 22,944
S EEY 3,630,927 3,166,177 464,750
=2 1,681,924 1,681,924 0
= 428,734 413,734 15,000
2 1,520,269 1,070,519 449,750
£9130| At 3,010,236 2,936,236 74,000
= 1,502,284 1,595,284 3,000
= 407,734 393,634 14,100
2 1,010,218 947,318 62,900
24 AT 80,324 30,324 50,000
401 AlEHILL O] 80,324 30,324 50,000
04 Al&H| 80,000 30,000 50,000
OolES~HTR 2EH AR IR+
MM ALY 50,000,000 14! 50,000 0 50,000
TAE FaBe 13,943 19,043 6,000
= 9,820 12,820 A3,000
= 0 900 A900
2 4,123 6,223 A2,100
401 AlEHIL 20| 1,100 7,100 6,000
= 770 3,770 3,000
= 0 900 A900
2 330 2,430 A2,100
04 Al& 0 6,000 6,000
OSAIE HEZEAH(B2H) 0 0 6,000 6,000
2 0 3,000 3,000
= 0 900 A900
2 0 2,100 A2,100
LB XY 170,000 140,000 30,000
= 105,000 90,000 15,000
2 65,000 50,000 15,000
401 AlEHIL 20| 170,000 140,000 30,000
= 105,000 90,000 15,000
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401 Al&HIZ =204 i 65,000 50,000 15,000

04 Al&H| 170,000 140,000 30,000

OFg 24018 & =4 30,000,000 30,000 0 30,000

S 15,000 0 15,000

i 15,000 0 15,000

SME=EE 618,021 227,021 391,000

= 89,640 86,640 3,000

= 21,000 20,100 900

i 507,381 120,281 387,100

ME=SEHTH (XA ) 463,416 72,416 391,000

= 3,000 0 3,000

= 900 0 900

= 459,516 72,416 387,100

207 S SoHEH 56,000 50,000 6,000

= 3,000 0 3,000

= 900 0 900

= 52,100 50,000 2,100

01 9+E9H| 56,000 50,000 6,000

OZ A= AEHEAH (=SH 6,000, 000& 6,000 0 6,000

= 3,000 0 3,000

= 900 0 900

i 2,100 0 2,100

401 AIEHIZLROYI 405,216 20,216 385,000

03 EXIoHbI 385,000 0 385,000
Ott24t ME= ZHAIY 2N 243

385,000,000 » 14l 385,000 0 385,000

FEoExH Yt 2,670 2,920 A250

FEExY Yt 2,670 2,920 A250

202 OdHl 2,250 2,500 A 250

01 =UWHHbl 2,250 2,500 A 250

O=U0H oazEa= -250,000& A 250 0 A250

Aa g zel 812,301 772,301 40,000

s 393,424 393,424 0

S 49,178 49,178 0

i 369,699 329,699 40,000

AT AA 641,671 601,671 40,000

s 393,424 393,424 0

= 49,178 49,178 0

= 199,069 159,069 40,000

—_




SN BHSET=RD
=R RRETPNEITE )
el AT ALY cHol H )
SM-EH . C(BH) - HRAY - B2 o 713 o HRs2
dEE 142,078 102,078 40,000
s 25,200 25,200 0
= 3,150 3,150 0
i 113,728 73,728 40,000
401 AU =204 122,078 82,078 40,000
2 25,200 25,200 0
= 3,150 3,150 0
2 93,728 53,728 40,000
04 Al&H| 121,500 81,500 40,000
O+2A HUER DML LE(600m)
40,000,000& * 14! 40,000 0 40,000
HEES (BYLE =T D) 1,521,678 8,568,782 2,932,896
= 1,780,000 1,780,000 0
= 104,208 94,610 9,598
= 9,637,470 6,714,172 2,923,298
HEHH K= 8,263,026 5,734,365 2,528,661
SAWHELSHEED 1,974,358 1,987,900 36,458
701 JIEIIHNMES 1,974,358 1,937,900 36,458
01 JIEtIHEEZ 1,974,358 1,937,900 36,458
O+ZIMM SBaH B3
1,974,358,0002 1,974,358 1,987,900 36,458
AT EEHIN MES 5,573,668 3,081,465 2,492,203
701 JIEtRIHIEE= 5,573,668 3,081,465 2,492,203
01 JIEEHEED 5,573,668 3,081,465 2,492,203
O&4==CELEIHNNES 5,573,668,000& 5,573,668 3,081,465 2,492,203
SHEKE 527,757 84,120 343,637
= 4,750 4,313 437
i 523,007 179,807 343,200
SN M2 A E XSS 495,037 151,400 343,637
= 4,750 4,313 437
i 490,287 147,087 343,200
311 XL SO0l XH&E 37,437 37,000 437
= 4,750 4,313 437
2 32,687 32,687 0
04 SLEEXLZO0IX&E 37,437 37,000 437
OZMH+HAL TIUZ0ITaE
37,437,000 37,437 37,000 437
& 4,750 4,313 437
o 32,687 32,687 0




SN BPLE =KD
H: YRS (BFLE=ND)

o BMXE CER:E
SAN-ZH-SA(FA) - NFAY - BES O AF K J|E Hlw &2

601 XUSH=oE 457,600 114,400 343,200

04 SLERNLUSISHE 457,600 114,400 343,200
OF¢H+=MelAldE NHLAS ZJ1&&(0l

AHE2Y) 114,400,000 »3& 343,200 0 343,200

HEHEAHSEES 2,730,895 2,670,297 60,598

= 1,780,000 1,780,000 0

& 99,458 90,297 9,161

= 851,437 800,000 51,437

St AL Z A 2,630,895 2,570,297 60,598

= 1,780,000 1,780,000 0

& 99,458 90,297 9,161

= 751,437 700,000 51,437

626,895 566,297 60,598

= 377,000 377,000 0

& 99,458 90,297 9,161

i 150,437 99,000 51,437

04 ESLIIRAZ0IAr4tst 626,895 566,297 60,598

Oot+=3ZXaE X2 Ol Ktats

566,895,000& 566,895 506,297 60,598

= 337,000 337,000 0

& 99,458 90,297 9,161

= 130,437 79,000 51,437
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